Efficiency vs dr

0.5

efficiency vs AR

O AU I T 1 T YT TT0F T T 11T
= i —=— DQM_mkFit_TTbharPU50_extractedGeoms_rescaleError100
g 1~05 [l —— DQM_ mkFlt TTbarPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0
i _rescaleError100_pTCutOverlapOp0_dynamicChi2CutOverlap
0.95[-
093 2 1
10 10 3 1
TP min AR

[ Efficiency vs dr (track,jet) |

5 0]
270.09
)
o
£0.08
20.07
)
©0.06
]
o
20.05
()
0.04
0.03
0.02
0.0

[y

1072 1
AR(TP, jet)

................................................

4
i)
L}

[ AR AR AR AL LA

Pileup

-1

80




	Contents
	Page 1


